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>>> print(data['am'].unique()) # am ZE0|M 2 MAHst 2HE 17|
['manual' 'auto']

>>> print(datal['gear'].unique()) # gear ZIEH0|N & N5t S 2517|
['4" '3'" 'x3' '5' 'x5']

>>> print(data['vs'].unique()) # vs ZHM S2 H|7HEH S F1517|

[0 1]

3 e o
2] A% 52 wer 4 YauT

oS A0S E5|A] DA glolE] 4= 3274(32 entries)o]al, A ZE 9

t)

gsec o= 1712] ZEA]7} Qlth= AME S & 4= AFUTH

ool = dlo] 8 EH (Dtype Data type?] oFAb) HHE gHels|EA|th
o] HEdg H49] gloH EFY2 object B string 508 &5l
o] gloJe] B}Q)L int64 LE floatedZ ZHHTE A dolEATh o HEE
A0 gFEo] BANEolEtH HE A5 O 2 object EFY L A=t

T =
W5 Wt inted SO2 AAE 4 YFUTL

229

S

FRISS

K
Pl
xr
ilz]

|

q

ElV1=



yjpark
사각형




